W10 B T
=
@ ° 8
i
A 7 7
e
,71, 6 - 6
5
D 5 -5
A
2
N 4 - 4
3 - 3
2 L2
1 - -1
0 1— - —— -0
068 |07H |08A | 098 | 108 | 118 | 12A 017 028 |038 |048 |05A | 06H
e EFE A B 1 4 2 0 4 1 3 4 6
7 LTINS 0 0 1 3 0
=B o mA$K 0 0 0 0 0 0 0 0 0
Lt fEFT S Rk
>
~ 4 7 i 2B 3 EAR A B
A
= 8
| / /\\
2 / > A
0 +—m= = = = ., = = = T —
068 | 078 | 08B | 098 | 108 | 118 | 128 O';;J 028 | 038 | 048 | 058 | 06A
——0~95 0 0 0 0 0 0 0 0 0 0 0 0 0
—=—10~198%| O 0 0 0 0 0 0 0 0 0 0 0 0
—+—20~29%%| O 0 0 0 0 0 0 0 0 0 0 0 0
——30~398%| 0 0 0 0 0 0 0 0 0 0 0 0 0
—%—A40~498%| 0 0 0 0 0 0 0 0 0 0 0 0 0
—e—50~598%| 0 0 0 0 0 0 0 0 0 0 0 0 0
——60~69E%| O 0 0 0 0 2 3 0 0 0 0 0 2
—o—70RALE| 1 4 2 3 7 0 1 3 4 4 2 0 4
WL SRS fE R




()
W, RBCEFAE

06 A

07H

08H

10H

118

128

02H

03A

04H

05A

71t

EmAR

— R R

A4 E

AR

rfp|lo|lo|lo|o

ceeeees BEF

||l O O|lO| O

prp|lo|lolo|o

0| 0w Ol O0O|O| O

|l pd|lO OO O

NN O|lO|O| O

||l O O|lO| O

0| Ol O0O|O| O

Al bd|lO OO O

ojlo|lo/ o|lo| o

Wb =Rk

(BifD)

RBC{E i E

0.9
0.8

0.7
0.6

0.5

0.4
0.3

0.2

0.1

06 A

07R

08H

[ ]

09A

108

[ ]

118

128

R7
01H

02R

03R

048

05H

06 A

—— MiENF

—s— HIEBRAE

—— RIRABFAE

oot JHIESRSMR

“ore KBSV

e B

e RSN

ceeeee SMPREERS

oOjlo/loolo o|lo|o|o

B 2k 1]

oOjlo/loolo o|lo|o|o

o|lojlojlo|jlo|o|o|o| oo

o|lo|lojlo|lo|j]o|o|o| O

o|lojlojlo|lo|jo|o|o| oo

o|lojlojlojo|o|o|o| oo

o|lojlojlojlo|jo|o|o| o

o|lojlojlo|jlo|jo|o | O

o|jlojlojlojlo|o|o|o| oo

o|jlojlojlojlo|o|o|o| O

oOjlo/loolo o/lo|o|o

oOjlo/loolo o/lo|o|o

oOjlo/loolo o|lo|o|o

WAL = mhR




(BifiL)
35

PClERE

30

25

20

15

10

07R

08H

09A

108 | 118 | 128

R7
01A8

02R

03A

04R

05H

06 H

7 i

ERAR

/N E

A

o|lo| o| o

e RE

ceeeens &5

o|jlo|lo|o|o| o

oOjlo/ o|lo|loO0| O

o|jlo|lo|o|lo| o
o|lo|lo|o|o| o
o|jlo|lo|o|o| o

o|lo|lo|o| o

o|jlo|lo|o|o| o

el NeoRNolNolNolNe]

oOjlo/ olo|lo| o

o|lo|lo|o|o| o

o|lo|lo|o|o| o

At T =Rk

(BifiD)

PCEAE

0.9

0.8

0.7

0.6

0.5
0.4

0.3
0.2

0.1

06 A

07RH

08H

09R

108 | 118 | 128

R7
01R

02R

03R

048

05H

06 A

—

—s— HibSRAE

—— JEIRFBNE

oot JHALERSMRL

ceon e HIERAMEL

Ce s BRHLR

e RS

e UREH

Z D

oOjlo/lololo|lo|lo|o| oo

oOjlo/loolo|lo|lo|o|oo

oOojlo/lo o/lo|lo|lo|o|oo

oOojlo/lo o/lo|lo|lo|o| oo

oo/l olo|lo|lo|o| oo
oOojlo/loolo|lo|lo|o| oo
oOojlo/lo o/lo|lo|lo|o| oo

oOojlo/ o/lo|lo|lo|o| oo

oo/l o/lo|lo|lo|o| oo

oo/l olo|lo|lo|o| oo

oo/l o/lo|lo|lo|o|oo

oOojlo/loo/lo|lo|lo|o|o

oo/l olo|lo|lo|o| oo

b = w5




W, FFPEFE

0.9

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

R7

068 | 078 | 088 | 098 | 108 | 118 | 128 018

028 | 038 |04R | 058 | 068

_— 0 fth

ERAR

R R

o SV

s N

1 3% 32 $f8

o|lo|lo|lo|lo|o|oO
o|lo|lo|lo|lo|o|oO
o|lo|lolo|lo|o|oO
o|lo|lo|lo|lo|o| o
o|lo|lo|lo|lo|o| o
o|lo|lo|lo|lo|o|oO
o|lo|lo|lo|lo|o|oO
o|lo|o|jo| oo

o|lo|lo|lo|lo|o| o
o|lo|lo|lo|lo|o|oO
o|lo|lo|lo|lo|o|oO
o|lo|lo|lo|lo|o|oO
oO|lo|lo|jo|lo|o|oOo

ceeeens 5

Wk =Rk

v FFPE &

0.9
0.8

0.7

0.6
0.5

0.4

0.3
0.2

0.1

R7

018 028 | 038 | 048 | 05A | 068

06A |07H |088 | 09AR | 108 | 118 | 12R

—— MiENF

—s— HibRAE

—— RRFANE

s SEAEBAR

s HEBOMEL

e BN R

o RSN

—o— WPRERH

o|lo|lojlo|lo|o|o|o| oo
o|lolojlo|lo|o|lo|o| oo
o|jlojlojlojlo|o|o|o| oo
o|lo|lojlo|lo|o|o|o|o©
o|lojloolojlo|jo|o|o
o|lojlojlo|lo|o|o|o| oo
o|lo|lojlo|jo|o|o|o| oo
o/locojlojlo|lo|o|o| o

o|lojlojlo|lo|o|o|o| oo
o|lolojlo|lo|o|lo|o| oo
o|jlojlojlojlo|o|lo|o| O
o|lo|lojo|lo|o|o|o| oo
o|jlolojlo|lo|o|lo|o| oo

Z Dt

Wk =Rk




VHEHAE

=
-~

7ILT

.
.0-..-
.

eecc®

Peees,

-----"------------

25

25

02A | 038 | 04A | 058 | 06 R

R7
01A8

128

37.5

37.5

118

0
0

108

08A | 09H

20.8 |12.48| 175
20.8 | 12.48| 175

078

0

0
0

06H

0

0

40

(T3L)

35

30

25

70

3PN

B
e 415
e RE

eecccse

kT = mkR

(TFL4)

-
-~

7LD

@

028 |03H |04A | 058 | 06 B

15

128

&

118

(@

108

@

06H | 07H | 08H | 09H

@

R7

@

0

0
0
0
0
0
0
0
0
0

1
0.9

0.8

0.7

0.6

0.5

0.4
0.3

0.2

0.1

—— IMRNF
—s— HIEBRAR
—— RIREAE

HIEZRS R
RS+
R w

i serf® o A

ceeXooes

coadecce

WPRARE
ZDfs

Wk = mkR




) REE ®
5 0.5
4 0.4
3 0.3
2 0.2
1 0.1
0 +— % =% % T Rt7 2 =% % A— 0
068 |07H |088 |09A | 108 | 118 | 128 018 028 |038 |048 | 058 |06H
. RBC(EA{3) 0 0
m pC(Bif3f) 0 0
= FFP (L) 0
Wt fEFT SRR
(%) BRIEE
50.0 *
40.0
30.0
20.0
10.0
0.0 I i oy oy i oy ) oy i i—
068 | 078 | 08A | 09A | 108 | 118 | 128 0178 028 | 038 | 048 | 05A | 068
—+—RBC| 00 | 00 | 00 | 00 | 00 | 00 | 500 | 00 | 00 | 200 | 00 | 00 | 0.0
—@-PC | 00 | 00 | 00 | 00 | 00 | 00 | 00 | 00 | 00 | 00 | 0.0 | 00 | 0.0
~f=—FFP| 0.0 | 00 | 00 | 00 | 00 | 00 | 00 | 00 | 00 | 00 | 0.0 | 00 | 0.0
Lt fE# & RkE




(ALB/RBC) ALB/RBC,FFP/RBC (FFP/RBC)
12.00 12.00
10.00 10.00
8.00 8.00
6.00 6.00
4.00 4.00
2.00 2.00
0.00 = i — /:\ == 0.00
06H |07H |08H |09A | 10A | 118 | 128 018 02H |038 |048 |05A |06 R
—4—ALB/RBC| 0.00 | 0.00 | 1.73 | 0.00 | 0.73 | 0.00 | 6.25 | 0.00 | 0.00 | 1.04 | 0.00 | 0.00 | 0.00
——FFP/RBC | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00

WL =R




